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%& " & >+ . E N— _pa 74 rs
Pd C >3 .—-/70_10 2%’ 34 50(6) P Pd
X2CrNiMO 78 <=>
09.10 10.5 789: 3 2680 - 27514 142.6 18343 (mod) 198 14.23 @A BCDE
09.10 10.5 DN1I0OOFGHI1 J 1000 - 4350 2.5 Q345R 300 16.4 |CO2KLMG@ BCDE
20/16/1800 X2CrNiMO Q RS/T
09.10 10.5 A1NOPJ - 16016 1455.5 18343(mod) 165/198 | 0.8/16.1| U<VW=> BCDE
OHETS X2CrNiMO Z LQ/NH3
09.10 10.5 AINXYJ 800 - 9492 113 18343(mod) 190/190 | 0.8/13.9[C0278<==> BCDE
X2CrNi
190072100 M018343(mo
09.10 10.5 C02S\ 3 - 13030 1022 d) 229/198 |[2.0/14.3| RS O] > BCDE
Ta: bNRSK
20MnMo1V/ 2.5/ RSO] > cdefgh
09.10 10.5 ANC2N  J 500 _ 4486 45.7 0345R/20G 250 14.5 /C02@ ™ ijkimn
Ta:
20MnMo1V
/Q345R/15C OorPQ/ cdefgh
09.10 10.5 1 NCO20PJ 600 - 4209 39.93 rMo 70/300 2.5/14.5 co2@ ~ igjkimn
12.5 13.11 789: ; 2680*(8+28+10*12)*27514 142.6 316LMOD 301514 198 16.1 CR2KTK=<= BCDE
12.5 13.11 IN<== 01700/105 /1600 - 18*16016 1455.5 68200 165/198 | 0.8/16.1 <= BCDE
40#B78 o1J 317LMOD
- 02166/125 - O
125 13.11 @\: 021667125 - 1168 (318100 97240 | 229/198 | 3/16.3 co2 BCDE
12.5 13.11 ANXYJ 02680/(8+95)900/10*9492 165 45000 190/190 | 1.4/16.3 <= BCDE
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